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42|3t4 I} 8 |mE;RA PETHIEIST| /N3] 8.250 | 9.300 8. 800 8.500 34,850
43|KFE & 8 |R#|RA PETHIEIST|/INI3| 7.700 | 8.750 7.600 8.500 32.550
Lu|¥8hH %8 8 |R#RA1 rETHIEZIST|[/I3| 6.950 | 8.850 7.400 8.100 31.300
451580 Ew 8 |m#RA PETHIEIST|/IN3| 8.500 | 9.000 8.300 q.100 34.900
Le(saR 5 8 [m#yrErshigsS57 /6| 9.100 | 9.500 q.100 8.1700 36.400
474fRE RBR 8 |m#@myroE I35 7 | 1| 9.500 | 9.550 q.200 q.300 37.550
L8[EK I 8 |R#R1 rETHIEZST|/IS| 8.000 | 9.600 8. 800 8.900 35.300
WK FE RN 8 |R#R4 rETHIEIST| P I | 8.650 | 9.150 q.300 8.650 35.750
50{&E ZE—8R 8 |m#R4 rETHIEIST| P 2| 8.200 | 8.550 8.900 8.300 33.950
51|RE& KBk 8 ¥ 2aR—vyepken=z|P 2| 8.800 | 9.200 q.300 8.1750 36.050
52(RmE :E 8 |V 2F—vxepkeszE|P 3| 8.150 | 9.400 q.100 8.250 34.900
53|/hitt  GkE 8 |74 F+EHKEIST |/hS| 7.950 | 8.950 8.700 7.700 33.300
54| H L H#AN 8 | 774 7M /3| 8.450 | 9.850 q.300 q.400 37.000
55| fE3} 8 |[REWKIEIST /N3] 8.850 | 9.600 q.100 q.650 37.200
56| %H#H EHM 8 | REAWKIEIS7 N3] 9.550 | 9.1750 q9.500 q.450 38.250
57|13 £13] 8 | REWKIEIST /N3] 8.400 | 9.700 8. 800 q. 150 36.050
58| AR FiEe 8 |[6—THkIEIST h2| 8.500 | 9.650 8.1700 8.1750 35.600
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56 ZH#H =M 8 | ERKZEIST /N 3| 9.550 | q.750 2 q9.500 | q. 450 2 | 38.250 | -

47 {rE FEBR 8 |[R#SYvrrEVIHKEIST | | q9.500 2 q.550 1 q.200 5 q.300 4 1 37.550 2 10.70
55/ fE} 8 | ERAKZEIST /h 3| 8.850 4 q.600 5 q.100 6 q.650 | 37.200 3 10.35
S54|¥ Lt AN 8 [72747M /3| 8.450 q q. 850 [ q.300 2 q.400 3 | 37.000 4 10.20
L6 AR B 8 |m#myvrrEYITKEIST |IING6| 9.100 3 q9.500 8 q.100 6 8.700 | 10 | 36.400 5 (0.60
5713 £I3) 8 | ERKEIST /3| 8.400 10 q.700 3 8.800 | 10 q.150 5 | 36.050 6 |0.35
51 8BS KK 8 |¥-zxE—vepkezmz b 2| 8.800 5 q.200 | 11 q.300 2 8.750 8 | 36.050 6 |0.00
49 KFE R 8 |F#ZMRAIEFPHIEIST | B | 8.650 6 q.150 | 12 q.300 2 8.650 | Il | 35.750 8 10.30
58 BAK IiE 8 | L—THKEIST N2 8.500 7 q.650 4 8.700 | 13 8.750 8 | 35.600 q9 10.15
48 iEK I 8 |F#MRAFEFHIEIST|/NE| 8.000 14 q.600 5 8.800 | 10 8.900 7 | 35.300 | 10 {0.30
52|[/@ :iE 8 |¥-zxE—vzepkezmz b 3| 8.150 13 q.400 q q.100 6 8.250 | 15 ] 34.900 | Il ]0.40
4580 ES 8 |F#MRAFEFHIEIST /N3 | 8.500 7 q.000 | I3 8.300 | I5 q.100 6 | 34.900 | Il {0.00
42|k ;]| 8 |BE#HRALETHIEIST| /N3] 8.250 I q.300 | 10 8.800 | 10 8.500 | 12 ] 34.850 | 13 10.05
50 EB E—BR| 8 |H#MRAILETFHIEIST F 2| 8.200 12 8.550 | 117 8.900 | 9 8.300 | 14 ] 33.950 | 14 10.90
53/hith A& 8 |[T14FrEHKIEIST /S| 17.950 15 8.950 | 14 8.700 | 13 7.700 | 17 ] 33.300 | 15 ]0.65
43| AR & 8 |F#R4 rETHIEZ2ST /N3] T7.700 16 8.750 | 16 7.600 16 8.500 12 | 32.550 16 10.75
Ly %%H #8 8 |EZMRAIETFHIEIST /N3] 6.950 17 8.850 | 15 7.400 | 17 8.100 | 16 ] 31.300 | 17 ]1.25

2023/7/28 : m B W RAFE



FIEIREY 2 =T H v THRERFERFHEAS

[5BF3iE3R No.ll)
SMNE LAHi—%
(7 H E7 B
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I | # # Z 8 RAKEIS7 N3] 9,550 I | &’ £ 3 REAKEIST N3] 9,650
2 | B A FE B O ERSBYroECITHKEIST (RI] 9,500 2 | # H ZH REAKEIST N3 9,450
3w R e REBMIroECTHEIST |G| 9.100 3| ## £ AN | 77A4ATM M3 9,400
4 | ]’ £ 3} REAKEIST N3] 8.850 4| R B T B OEHYrCECIHKEIST (PI| 9.300
5 R & K B |V AFR-vEEHKEHE (P 2| 8.800 5 | & gl #B REA®KEIS7 N3] 9,150
6 K F R ' REERXSAIETFHEEIST [P 8.650 6| 2 0 B $£ RHBRAIEFEREIST N3] 9.100
b AL B BARFIE
g ® F 2 i B %% B & g # F 2 it B 2% /% &
I | # £ ## A~ [72747M N3] 9,850 | | % # 2 M EHEKEIST /N3] 38.250
2 | # H M RAKEIST M3 9,750 2 | BB FE M O ESVroEYIHhiEIS7 (1| 37.550
3| @ gl B REA®KEIST /N3] 9,700 3| R £ 3} REKEIST /N3] 37.200
L | B K BE ([o—IKEIST MN2] 9,650 4 | # £ H#H N 774TM A 3] 37.000
5| & K I |RERA PETHKIEEIS TS| 9.600 5| @ R 2 R ECTHEIST |IN6| 36.400
5 R £ 3} REAWKEIST /N3] 9,600 6 | I gl 8 EME®KEIST /N3] 36.050
6 | BE & K KX | RE—VEEBKEKE $2| 36.050
Bk 5
g ® F 2 21 B 2% /& A
I | Z # Z 8 REAKEIST N3] 9,500
2| K F R ' REHRSAIETEEIST (R 9.300
2 BB B KR ¥RE-vEEBEKEHZE (P2 9.300
2 | L AN T7FATM N3] 9,300
5| B T B [FEHYrECIHKEIST BRI 9,200
6 % R IR (REBMIroECTHEIST |G| 9.100
6 | & H i |- RE—VEEBEKEKE (R3] 9.100
6 | IR £ 3} REAKEIST /N3] 9,100
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